Questions can be answered in
multiple ways. Both ways must be
known for mastery

Energy vs. Force Net

A 0.25Kg rock is thrown up at 20m/s.
How high will the rock travel?
How fast is the rock at 10m high?
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Arocket with a mfass of 2.5kg launches up to a height of 800m in 3 seconds. (‘(Y\J o A
What is the force of the engine? OwT (L
How fast is the rocket traveling at 800m? 2 e

How much highgr will the rocket go up before stopping?
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A 20Kg Box is dragged with a 50N force for 100M then allowed to slide with no force added.
The ukK =0.2.
How fast will the box be traveling at 100m?
How much energy is the person exerting?
How far will the box slide if allowed to slide after the 100m mark.
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